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1. By using synthetic divisions method evaluate (x* — 2x3 + 5x — 7) + (x — 2)

FAZEBREITENY =243 +5x=7) + (x = 2)

Quotient = x3 + 5, Remainder = 3
2. By using synthetic divisions method evaluate (2x3 — 7x2? + 12x — 9) + (2x — 3)

F RS EBRETERY® —7x2 + 126 — 9) + (2x — 3)

Quotient = x? — 2x + 3, Remainder = 0

3. Factorize f(x) = x* — 4x3 — x? + 16x — 12
RO f(x) = x* — 4x3 — x% + 16x — 12

flx) = —1(x—2)(x+3)(x—3)
4. Solve the equationx3 +3x2 —4x—12=0

RARER +3x2—-4x—-12=0
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5. Find the remainder when 4x3 — 5x + 1 is divided by
a. x—2
b. x+3
c. 2x-—1

EBRIMUATR T, kAER4x® -5x+ 1 &R
ax—2
bx+ 3

c2x—1

a.23,b.—92.c.—1
6. The expression 4x% — px + 7 leaves a remainder of —2 when divided by x — 3. Find the value of p

FRER4x? —px + 7 B lx — 3B EE-2, Kp

p=15
7. Determine whether or not x + 1 is a factor of the following polynomials
T x + 1 BREZ T ZMAMEF
a. 3x*+x3—x?+3x+2
b. x®+2x(x—1)—4
a.yes,b.no

8. The expression ax3 — 8x2 + bx + 6 is exactly divisible by x? — 2x — 3. Calculate the value of aand b
EHERax® —8x2 + bx + 6T U x% — 2x — 3Efk, KaFlb
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9. f(x) leaves a remainder of 5 and 7 when divided by (x — 1) and (x — 2) respectively. Calculate the
remainder when f(x) is divided by (x — 1)(x — 2)

EHSf ) BRI — DRI(x —2) BRES M7, K () BRI (x — D(x — 2) KRR

2x+ 3

10. When f(x) is divided by x — 1, the remainder is —1; when it is divided by x?2, the remainder is —x — 1. Find
the remainder when f(x) is divided by x?(x — 1)

LB MY — 1BRE -1 RUOCHHRE —x — IR ORI x*(x - DARR

x2—x—-1

11. Given f(x) is a polynomial for degree 3. When f(x) is divided by (x — 1) and (x + 1), the remainder are 9
and —5 respectively. And when it is divided by (x? + 1), the remainder is (3x — 4). Find the polynomial f(x)

B f() B—ASRETHER, %f00) BN (-1 T G+ DB, BREOF -5, Kbl
(x? + DY, BRRK Gx—4), KEHKS)

2x3 +3x2+5x—1

12. f(x) = ax? + bx + ¢, f(x + 3) — f(x — 1) = 3x, when f(x) is divided by (x — 4), the remainder is 6. Find
the value of ¢

fx)=ax?+bx+c f(x+3)—f(x—1)=3x, Y f(x) BN —4), 5&%6 Kc
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13. f(x) =x?>—=5,g(x +2) = f(x — 1), h(x — 3) = g(x — 2), find the remainder when f(x + 1) —
xh(x + 2) is divided by (x — 2)

fO)=x%=5gC+2)=f(x—1),h(x=3) =g —2), Rf(x+1) —xh(x + DERU(x — 2)BIRRK

14. Solve x* — 10x3 + 26x%> —10x+1=0
Bx*—10x3+26x>—-10x+1=0

2++3,3+2V2
15. Factorise x(x — 1)(x — 2)(x — 3) — 24
R fEx(x — D(x — 2)(x — 3) — 24

(x?=3x+6)(x—4)(x+1)
16. Factorise 27x3 + 8

R fB27x3 +8

(3x + 2)(9x?% — 6x + 4)
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17. Factorise x* — 14x2% + 1
HARX Ol — 14x% + 1

X2+ 1+4x)(x? +1—4x)

18. Solvex* = 3x2+1=0
Bx*—3x2+1=0

-1+v5 1+5
2 2
19. Find a quadratic function f(x) if f(1) =0, f(—2) = 0,f(3) = 40
K= RS (x) & f(1) =0,f(=2) =0,f(3) = 40
4x% + 4x — 8
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